Linear Programming Exercise 3 with Solutions
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on the site and if the site facilities cannot accommodate more than 400 people,

write down an inequality to express this information:

A holiday campsite

Each caravan is allotted an area of 60m” and cach tent is allotted 50 m’. The
total area available for caravans and tents is 3600 m”. Write down an inequality
10 express this information.

Graph the set showing the possible numbers of caravans and tents on the site.
If there were only caravans on the site, what is the maximum number of

caravans which could be catered for?

The charges on the site are IR£60 per caravan and IR£40 per tent

How many caravans and how many tents should be on the site to give a
maximum income? n

Indicate on your graph the region where the income would be less than
TR£1200.

A company assembles two models of microcomputer—model K and model .
The company must assemble at least 4 times as many of model K as model T.

If x of model K and y of model T are assembled, verify that x = 4y.
The assembly time for cach model K is 18 hours and for each model T is 36
hours and a total of 216 hours is available in a given assembly period.

Graph the set showing the possible number of cach model assembled in the
period.

There is a ready market for each model and the company makes a profit of
IRE180 on each model K and IR£100 on each model T. How many of each type
should the company assemble to

give a maximum profit?
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